Formula sheet

e Derivatives of inverse trigonometric functions.
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e Trigonometric identities.
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sin2x+cos r=1

1+ tan? z = sec’ x

1+ cot’r = csc’ x
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sin(z + y) = sinz cosy + cos xsiny

cos(z +y) = cosxcosy —sinxsiny

t t
tan(z +y) — anx + tany
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1
sinxcosz = 3 sin(2z)

1
sin“x = 5(1 — cos(2z))

1
cos”x = 5(1 + cos(2x))

. . 1 1
sinzsing = 5 cos(z —y) — 3 cos(z + y)

1 1
cosTCOsY = 5 cos(z —y) + < cos(z + y)
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. 1. 1.
sinz cosy = ism(z —y) + = sin(z + y)

e Integrals of trigonometric functions.

2

tanx dxr = In|secz| + C
cotx dr =1In|sinz|+ C
secz dr = In|secx + tanz| + C

cscx dr = —1In|escx + cot x| + C
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